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%74% T Multiply decimals by 10,100,1000

—= —
Name: Date: Score:

5329 x 10 = 6.727 x 1000 =

1.143 x 100 = 4.047 x 10 =

5.616 x 1000 = 8.511 x 1000 =

8.292 x 100 = 4.527 x 10 =

1.589 x 100 = 7.249 x 100 =

9.715 x 1000 = 2.184 x 1000 =

4.947 x 100 = 3.319 x 1000 =

8.29 x 100 = 6.168 x 1000 =

4.645 x 10 = 4.301 x 10 =

3.133 x 10 = 10.015 x 1000 =
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%743; T h Multiply decimals by 10,100,1000

Name: Date: Score:
5.329 x 10 = 53.29 6.727 x 1000 = 6727
1.143 x 100 = 114.3 4.047 x 10 = 40.47
5.616 x 1000 = 5616 8.511 x 1000 = 8511
8.292 x 100 = 829.2 4.527 x 10 = 45.27
1.589 x 100 = 158.9 7.249 x 100 = 724.9
9.715 x 1000 = 9715 2.184 x 1000 = 2184
4.947 x 100 = 494.7 3.319 x 1000 = 3319
8.29 x 100 = 829 6.168 x 1000 = 6168
4.645 x 10 = 46.45 4.301 x 10 = 43.01
3.133 x 10 = 31.33 10.015 x 1000 = 10015
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